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1. Introduction
This is a resubmission of S2-061561.

At the VCC adhoc/Munich, the following editor’s note was added to the TS 23.206 v0.4. Same note exists in v1.0. This contribution proposes this note to be removed.

Editor’s note: It is FFS whether the UE is required to know whether VCC has been enabled for a given call in order to facilitate handling of calls from a VCC subscriber.

Based on the following reasons, we do not see the reason why the UE is required to know whether VCC has been enabled in the network for a given call.
· Call that is originated from (or terminate to) the CS domain may not be IMS anchored. If UE tries a domain transfer from CS to IMS, the INVITE for the transferring-in leg will failed. In that case, VCC application can return a “reject” response to the INVITE such that the UE will not try domain transfer again for this call.

· Call that is terminating in IMS are already IMS anchored (see 4.4.2 in TS 23.206). Thus, domain transfer is not an issue in this case.

2. Proposal

### First Change ####
6
Information Flows and Procedures

6.1
Registration

Editor’s note: It is FFS whether the network is required to know the UE’s capability to support VCC in order to facilitate handling of calls from a VCC subscriber.


### Second Change ####
6.4.1
Domain Transfer Procedures

6.4.1.x
Domain Transfer Rejection

VCC application rejects the Access Leg establishment for the transferring-in domain from CS to IMS if the call has not been anchored. Upon receiving of this rejection (final reject), the UE shall not retry domain transfer procedure for this session.
Note: This case is not relevant for domain transfer from IMS to CS because IMS session is always anchored (refer to 4.4.2).
### End of Change ####
3. Conclusion

Discuss and agree with the proposal above.
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